

$$e := x \mid \lambda x. e \mid e e \mid n \mid e + e$$

$$v := n \mid \lambda x. e$$

evaluation

$$(\lambda x. x + 10) (1 + 2)$$

$$\rightarrow (\lambda x. x + 10) 3$$

$$\rightarrow 3 + 10$$

$$\rightarrow 13$$

reduction rules

$$\frac{n_3 = n_1 + n_2}{n_1 + n_2 \rightarrow n_3} \text{ (add)}$$

$$\frac{e_1 \rightarrow e_1'}{e_1 + e_2 \rightarrow e_1' + e_2} \text{ (app1)}$$

$$\frac{e_2 \rightarrow e_2'}{n_1 + e_2 \rightarrow n_1 + e_2'} \text{ (add2)}$$

$$\frac{}{(\lambda x. e_1) v_2 \rightarrow e_1 [x \leftarrow v_2]} \text{ (app)}$$

$$\frac{e_1 \rightarrow e_1'}{e_1 e_2 \rightarrow e_1' e_2} \text{ (app1)}$$

$$\frac{e_2 \rightarrow e_2'}{(\lambda x. e_1) e_2 \rightarrow (\lambda x. e_1) e_2'} \text{ (app2)}$$

example revisited

$$\frac{\frac{3 = 1 + 2}{(1 + 2) \rightarrow 3} \text{ (add)}}{(\lambda x. x + 10) (1 + 2) \rightarrow (\lambda x. x + 10) 3} \text{ (app2)}$$

$$\frac{}{(\lambda x. x + 10) 3 \rightarrow 3 + 10} \text{ (app)}$$

$$\frac{13 = 3 + 10}{3 + 10 \rightarrow 13} \text{ (add)}$$

$$\frac{13 = 3 + 10}{3 + 10 \rightarrow 13} \text{ (odd)}$$

conditionally

$e := \dots \mid \text{if } e_1 \text{ then } e_2 \text{ else } e_3$

$$\frac{e_1 \rightarrow e_1'}{\text{if } e_1 \text{ then } e_2 \text{ else } e_3 \rightarrow \text{if } e_1' \text{ then } e_2 \text{ else } e_3} \text{ (cond1)}$$

$$\frac{n = 0}{\text{if } n \text{ then } e_2 \text{ else } e_3 \rightarrow e_3} \text{ (cond2)}$$

$$\frac{n \neq 0}{\text{if } n \text{ then } e_2 \text{ else } e_3 \rightarrow e_2} \text{ (cond)}$$

state

$e := \dots \mid l \mid l := e$

$\langle e, s \rangle \quad s: \mathcal{L} \rightarrow \mathcal{V}$

$\langle l, s \rangle \rightarrow \langle s(l), s \rangle$

$\langle l := v, s \rangle \rightarrow \langle v, s \cup \{l \mapsto v\} \rangle$

reactive

$e := \dots \mid \varepsilon!e \mid \varepsilon.\text{sub}(\lambda x.e)$

$\varepsilon.\text{sub}(\lambda x. \varepsilon!(x * 10 + 1); \varepsilon!(x * 10 + 2))$

$\langle e_1 e_2 e_3 \dots \rangle, h$

$\langle v | e_1 e_2 \dots \rangle, h \rightarrow \langle e_1 e_2 \dots \rangle, h$

$e_1 \rightarrow e_1'$
 $\langle e_1 e_2 \dots \rangle, h \rightarrow \langle e_1' e_2 \dots \rangle, h$

$e = h(\varepsilon) [x \leftarrow v]$
 $\langle \varepsilon | v | e_1 e_2 \dots \rangle, h \rightarrow \langle e | e_1 e_2 \dots \rangle, h$
 $\rightarrow \langle e_1 e_2 \dots | e \rangle, h$

